Quantative Apptitude

. 1/30f1206 is what % of 134 ?
a) 250
b) 300
c) 320
d) 280
Ans: 300
. 35% of 250 + 25% of 350=
a) 175
b) 165
c) 155
d) 185
Ans:175
. Ram's salary was decreased by 20% and subsequently increased
by 20%, How much percent does he lose?
a) 0
b) 40
c) 4
d) None of these
Ans:4
. What is 25% of 25% equal to ?
a) 1/8
b) 1/16
c) %
d) 1/32
Ans:1/16




5. The average weight of P, Q and R is 40 kg. If the average weight of
P and Q be 35 kg and that of Q and R be 40 kg, then the weight of
B is:
a) 20
b) 25
c) 30
d) 35
Ans:30
6. If the average marks of three batches of 50, 65 and 40students
respectively is 45, 60, 55, then the average marks of all the
students is:
a) 53.8
b) 43.8
c) 53
d) 52
Ans-53.8
7. A student's marks were wrongly entered as 93 instead of 73. Due
to that the average marks for the class got increased by twice. The
number of students in the class is:
a) 20
b) 15
c) 10
d) 5
Ans:10
8. 22,23,24,26,26,29,?
a) 29
b) 28
c) 30




d) 32
Ans-28
9. 6,12,20,30,?
a) 40
b) 41
c) 42
d) 43
Ans-42
10. 10,26,50,122,?
a) 150
b) 160
c) 170
d) 180
Ans-170
11. 5,6,11,17,28,?
a) 35
b) 40
c) 45
d) 50
Ans-45
12. 4,18,48,100,?
a) 150
b) 160
c) 170
d) 180
Ans-180
13. The H.C.F. of two numbers is 25 and the other two factors of
their L.C.M. are 15and 20. The larger of the two numbers is:




a) 375
b) 400
c) 450
d) 500
Ans-500
14. Six bells commence tolling together and toll at intervals of 2,
4, 6, 8 10 and 12 seconds respectively. In 60 minutes, how many
times do they toll together ?
a) 8
b) 20
c) 30
d) 32
Ans-32
15. What is the probability of getting sum 8 of two dice dice
rolled ?
a) 5/36
b) 1/9
c) %
d) %
Ans-5/36
16. A bag contains 2 red, 3 green and 2 blue balls. Two balls are
drawn at random. What is the probability that none of the balls
drawn is green?
a) 30
b) 35
c) 25
d) 40
Ans-35




17.

18.

19.

20.

21.

In a box, there are 8 red, 7 blue and 6 green balls. One ball is
picked up randomly. What is the probability that it is neither red
nor blue?

a) 2/7

b) 1/7

c) 3/7

d) 5/21
Ans-2/7

Reasoning Ability

IBG,JBF,KBE,LBD,?

a) MCE

b) MBE

c) MBC

d) MBA
Ans-MBC
AEZ,CFY,EGX,GHW,?

a) v

b) U

c) IHV

d) FIV
Ans-IV
BMM,DOO,FQQ,?,JUU

a) HSS

b) HRR

c) ISS

d) IRR

Ans-HSS

|IAK,KBL,LCM,MDN,?




a) NEP
b) NEO
c) OEP
d) OEN
Ans-NEO
For question 22-26
a) If only conclusion | follows
b) If only conclusion Il follows
c) If either | or Il follows
d) If neither | nor Il follows and
e) If both | and Il follow.
22. Statement-all flowers are lotus;no lilly is flower
Conclusion-I no lilly is a lotus
Il some lilly is lotus
Ans-c
23. Statements-Some radios are cameras;some pencil are
cameras
Conclusion-l some cameras are pencils
Il no camera is a pencil
Ans-c
24, Statements- some apples are mangoes;some ball are
apples;some bags are balls
Conclusion-l some apples are balls
Il all mangoes being apples is a possibility
Ans-e
25. Statements- People who speak too much against dowry are
those who had taken it themselves
Conclusions-I It is easier said than done




26.

27.

28.

29.

30.

Il People have double standards.
Ans-e
Statements-Vegetable prices are soaring in the market.
Cnclusions-l Vegetables are becoming a rare commodity
Il People cannot eat vegetables.
Ans-d

General English
Antonyms of repulsion is?

a) aversion
b) destitution
c) petulance
d) attraction
ans-d
antonyms of Melancholy is?
a) exuberant
b) composed
c) lugubrious
d) fetid
ans-a
antonyms of Inane is?
a) tawdry
b) keen
C) vacuous
d) innocuous
ans-b
synonyms of buy is?
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a) Trade
b) Purchase
c) Compromise
d) Sell
Ans-b
31. Synonyms of move is?
a) Sit
b) Stand
c) Still
d) Travel
Ans-d

For question 32-26 read the following lines and find the error and if
there is no error then mark ‘d’.

32. (From above direction)
a) An Indian ship
b) laden with merchandise
c) got drowned in the Pacific Ocean.
d) No error.
Ans-c
33. (From above direction)
a) | have got
b) my M.Sc. degree
c) in 1988.
d) No error.
Ans-a
34, (From above direction)
a) Locke's treatises on government toleration and education
b) show a mind fully awake in




35.

36.

c) the possibilities of social reconstruction.
d) No error.

Ans-b

(From above direction)
a) None of the students attending your class
b) answered your questions
c) did they?
d) No error.

Ans-c

(From above direction)
a) Were you
b) given a choice
c) oryou had to do it?
d) No error.
Ans-a




